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the people ... in line to get into the theater were cold and wet

1 — stood 2 — stand 3 — standing v 4 — to stand
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the man ... for the best place to park his car has spent alot of time

1 — looks 2 — looked 3 — looking v’ 4 — to look
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for example : 92 — ;25 5 jwl pw

I am sure we will succeed and get the best result as we have worked ...
1 — such hard 2 — enough hard
3 — so hard enough 4 — hard enough v~

2l 635 LS Ciduw SIS 6 1351 6 ()92 S (50 9 SR (y yigs 9 PG (50 (§390 0S @i (yiako

for example : 90 — oL (5wl

A.1 need to talk to you about something B.Sorry ,butiam ... to talk
1 — so busy ‘ 2 — too busyY’ | 3 — very busy 4 — busy enough
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